



Project: Evans Street Sidewalk

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate: \$960,368.00

Date: 4/22/2025
 Time: 2:00:00 PM
 Appropriation:

Name of Bidder: Address of Bidder:	ICCI 420 Pinecrest Drive East Peoria, IL 61611
Proposal Guarantee: Terms:	5% Bid Bond

Attended By: City of Peoria: A. Klopfenstein; Contractors: Bruce Martin, Adam Watts

Approved Engineer's Estimate

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	422	\$ 60.00	\$ 25,320.00	\$ 77.18	\$ 32,569.96
21101615	TOPSOIL F & P 4	SQ YD	2882	\$ 12.00	\$ 34,584.00	\$ 14.16	\$ 40,809.12
25000400	NITROGEN FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25000500	PHOSPHORUS FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25000600	POTASSIUM FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25200100	SODDING	SQ YD	2882	\$ 20.00	\$ 57,640.00	\$ 20.82	\$ 60,003.24
25200200	SUPPLE WATERING	UNIT	35	\$ 200.00	\$ 7,000.00	\$ 150.00	\$ 5,250.00
28000510	INLET FILTERS	EACH	12	\$ 500.00	\$ 6,000.00	\$ 279.16	\$ 3,349.92
31101200	SUB GRAN MAT B 4	SQ YD	2387	\$ 30.00	\$ 71,610.00	\$ 18.62	\$ 44,445.94
35300100	PCC BSE CSE 6	SQ YD	292	\$ 70.00	\$ 20,440.00	\$ 65.56	\$ 19,143.52
40600290	BIT MATLS TACK CT	POUND	132	\$ 5.00	\$ 660.00	\$ 2.69	\$ 355.08
40604050	HMA SC IL-9.5 C N50	TON	32	\$ 250.00	\$ 8,000.00	\$ 444.25	\$ 14,216.00
42001300	PROTECTIVE COAT	SQ YD	2442	\$ 2.00	\$ 4,884.00	\$ 0.01	\$ 24.42
42300200	PCC DRIVEWAY PAVT 6	SQ YD	118	\$ 150.00	\$ 17,700.00	\$ 123.25	\$ 14,543.50
42300400	PCC DRIVEWAY PAVT 8	SQ YD	375	\$ 160.00	\$ 60,000.00	\$ 125.07	\$ 46,901.25
42400100	PC CONC SIDEWALK 4	SQ FT	14507	\$ 12.00	\$ 174,084.00	\$ 9.93	\$ 144,054.51
42400800	DETECTABLE WARNINGS	SQ FT	270	\$ 25.00	\$ 6,750.00	\$ 36.69	\$ 9,906.30
44000100	PAVEMENT REM	SQ YD	610	\$ 35.00	\$ 21,350.00	\$ 22.94	\$ 13,993.40
44000200	DRIVE PAVEMENT REM	SQ YD	445	\$ 25.00	\$ 11,125.00	\$ 19.44	\$ 8,650.80
44000500	COMB CURB GUTTER REM	FOOT	621	\$ 20.00	\$ 12,420.00	\$ 16.56	\$ 10,283.76
44000600	SIDEWALK REM	SQ FT	7984	\$ 3.00	\$ 23,952.00	\$ 1.88	\$ 15,009.92
550A0050	STORM SEW CL A 1 12	FOOT	70	\$ 90.00	\$ 6,300.00	\$ 126.19	\$ 8,833.30
55100400	STORM SEWER REM 10	FOOT	20	\$ 80.00	\$ 1,600.00	\$ 43.58	\$ 871.60
60236200	INLETS TA T8G	EACH	1	\$ 1,750.00	\$ 1,750.00	\$ 2,015.34	\$ 2,015.34
60240324	INLETS TB T20F&G	EACH	2	\$ 3,000.00	\$ 6,000.00	\$ 2,627.28	\$ 5,254.56
60255500	MAN ADJUST	EACH	1	\$ 1,500.00	\$ 1,500.00	\$ 1,087.87	\$ 1,087.87
60500060	REMOV INLETS	EACH	5	\$ 1,500.00	\$ 7,500.00	\$ 564.18	\$ 2,820.90
60604400	COMB CC&G TB6.18	FOOT	786	\$ 90.00	\$ 70,740.00	\$ 100.86	\$ 79,275.96
60605000	COMB CC&G TY B-6.24	FOOT	272	\$ 100.00	\$ 27,200.00	\$ 108.08	\$ 29,397.76



Project: Evans Street Sidewalk

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate: \$960,368.00

Date: 4/22/2025
 Time: 2:00:00 PM
 Appropriation:

Name of Bidder: Address of Bidder:	ICCI 420 Pinecrest Drive East Peoria, IL 61611
Proposal Guarantee: Terms:	5% Bid Bond

Attended By: City of Peoria: A. Klopfenstein; Contractors: Bruce Martin, Adam Watts

Approved Engineer's Estimate

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
60608572	COMB CC&G TM4.18	FOOT	97	\$ 70.00	\$ 6,790.00	\$ 101.98	\$ 9,892.06
67100100	MOBILIZATION	L SUM	1	\$ 50,250.00	\$ 50,250.00	\$ 60,763.90	\$ 60,763.90
72000100	SIGN PANEL T1	SQ FT	36	\$ 50.00	\$ 1,800.00	\$ 53.31	\$ 1,919.16
72800100	TELES STL SIN SUPPORT	FOOT	64	\$ 35.00	\$ 2,240.00	\$ 39.98	\$ 2,558.72
78009006	MOD URETH PM LINE 6	FOOT	721	\$ 5.00	\$ 3,605.00	\$ 6.94	\$ 5,003.74
78009012	MOD URETH PM LINE 12	FOOT	203	\$ 6.00	\$ 1,218.00	\$ 13.88	\$ 2,817.64
78009024	MOD URETH PM LINE 24	FOOT	389	\$ 9.00	\$ 3,501.00	\$ 27.77	\$ 10,802.53
X0326275	RR ROW ENTRY PERMIT	EACH	1	\$ 10,000.00	\$ 10,000.00	\$ 4,997.82	\$ 4,997.82
X1400326	R R FL BEACON A COMP	EACH	4	\$ 20,000.00	\$ 80,000.00	\$ 24,989.07	\$ 99,956.28
X4240126	BRICK SIDEWALK	SQ FT	44	\$ 25.00	\$ 1,100.00	\$ 59.74	\$ 2,628.56
X4400060	BRICK SIDEWALK REM	SQ FT	2369	\$ 5.00	\$ 11,845.00	\$ 3.18	\$ 7,533.42
X6021065	INLETS TG-1 SPL	EACH	6	\$ 6,000.00	\$ 36,000.00	\$ 5,620.75	\$ 33,724.50
X6026200	INLETS ADJUST SPL	EACH	3	\$ 2,500.00	\$ 7,500.00	\$ 2,481.99	\$ 7,445.97
X7010216	TRAF CONT & PROT SPL	L SUM	1	\$ 25,000.00	\$ 25,000.00	\$ 4,331.44	\$ 4,331.44
Z0013798	CONSTRUCTION LAYOUT	L SUM	1	\$ 16,750.00	\$ 16,750.00	\$ 18,991.69	\$ 18,991.69
Z0048665	RR PROT LIABILITY INS	L SUM	1	\$ 5,000.00	\$ 5,000.00	\$ 7,500.00	\$ 7,500.00
Z0056648	SS 1 WAT MN 12	FOOT	62	\$ 150.00	\$ 9,300.00	\$ 122.35	\$ 7,585.70
Z0077803	REMOV WOOD POST	EACH	11	\$ 50.00	\$ 550.00	\$ 86.87	\$ 955.57
PEO00001	CLEANOUT WITH POPUP EMITTER (SPECIAL)	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 756.69	\$ 756.69



Project: Evans Street Sidewalk

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate: \$964,117.00

Date: 4/22/2025
 Time: 2:00:00 PM
 Appropriation:

Name of Bidder: Address of Bidder:	ICCI 420 Pinecrest Drive East Peoria, IL 61611
Proposal Guarantee: Terms:	5% Bid Bond

Attended By: City of Peoria: A. Klopfenstein; Contractors: Bruce Martin, Adam Watts

Approved Engineer's Estimate

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	422	\$ 60.00	\$ 25,320.00	\$ 77.18	\$ 32,569.96
21101615	TOPSOIL F & P 4	SQ YD	2886	\$ 12.00	\$ 34,632.00	\$ 14.16	\$ 40,865.76
25000400	NITROGEN FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25000500	PHOSPHORUS FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25000600	POTASSIUM FERT NUTR	POUND	36	\$ 7.50	\$ 270.00	\$ 7.50	\$ 270.00
25200100	SODDING	SQ YD	2886	\$ 20.00	\$ 57,720.00	\$ 20.82	\$ 60,086.52
25200200	SUPPLE WATERING	UNIT	35	\$ 200.00	\$ 7,000.00	\$ 150.00	\$ 5,250.00
28000510	INLET FILTERS	EACH	12	\$ 500.00	\$ 6,000.00	\$ 279.16	\$ 3,349.92
31101200	SUB GRAN MAT B 4	SQ YD	2392	\$ 30.00	\$ 71,760.00	\$ 18.62	\$ 44,539.04
35300100	PCC BSE CSE 6	SQ YD	292	\$ 70.00	\$ 20,440.00	\$ 65.56	\$ 19,143.52
40600290	BIT MATLS TACK CT	POUND	132	\$ 5.00	\$ 660.00	\$ 2.69	\$ 355.08
40604050	HMA SC IL-9.5 C N50	TON	32	\$ 250.00	\$ 8,000.00	\$ 444.25	\$ 14,216.00
42001300	PROTECTIVE COAT	SQ YD	2446	\$ 2.00	\$ 4,892.00	\$ 0.01	\$ 24.46
42300200	PCC DRIVEWAY PAVT 6	SQ YD	118	\$ 150.00	\$ 17,700.00	\$ 123.25	\$ 14,543.50
42300400	PCC DRIVEWAY PAVT 8	SQ YD	375	\$ 160.00	\$ 60,000.00	\$ 125.07	\$ 46,901.25
42400100	PC CONC SIDEWALK 4	SQ FT	14546	\$ 12.00	\$ 174,552.00	\$ 9.93	\$ 144,441.78
42400800	DETECTABLE WARNINGS	SQ FT	270	\$ 25.00	\$ 6,750.00	\$ 36.69	\$ 9,906.30
44000100	PAVEMENT REM	SQ YD	615	\$ 35.00	\$ 21,525.00	\$ 22.94	\$ 14,108.10
44000200	DRIVE PAVEMENT REM	SQ YD	445	\$ 25.00	\$ 11,125.00	\$ 19.44	\$ 8,650.80
44000500	COMB CURB GUTTER REM	FOOT	621	\$ 20.00	\$ 12,420.00	\$ 16.56	\$ 10,283.76
44000600	SIDEWALK REM	SQ FT	7869	\$ 3.00	\$ 23,607.00	\$ 1.88	\$ 14,793.72
550A0050	STORM SEW CL A 1 12	FOOT	70	\$ 90.00	\$ 6,300.00	\$ 126.19	\$ 8,833.30
55100400	STORM SEWER REM 10	FOOT	20	\$ 80.00	\$ 1,600.00	\$ 43.58	\$ 871.60
60236200	INLETS TA T8G	EACH	1	\$ 1,750.00	\$ 1,750.00	\$ 2,015.34	\$ 2,015.34
60240324	INLETS TB T20F&G	EACH	2	\$ 3,000.00	\$ 6,000.00	\$ 2,627.28	\$ 5,254.56
60255500	MAN ADJUST	EACH	1	\$ 1,500.00	\$ 1,500.00	\$ 1,087.87	\$ 1,087.87
60500060	REMOV INLETS	EACH	5	\$ 1,500.00	\$ 7,500.00	\$ 564.18	\$ 2,820.90
60604400	COMB CC&G TB6.18	FOOT	786	\$ 90.00	\$ 70,740.00	\$ 100.86	\$ 79,275.96
60605000	COMB CC&G TY B-6.24	FOOT	273	\$ 100.00	\$ 27,300.00	\$ 108.08	\$ 29,505.84



Project: Evans Street Sidewalk

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate: \$964,117.00

Date: 4/22/2025
 Time: 2:00:00 PM
 Appropriation:

Name of Bidder: Address of Bidder:	ICCI 420 Pinecrest Drive East Peoria, IL 61611
Proposal Guarantee: Terms:	5% Bid Bond

Attended By: City of Peoria: A. Klopfenstein; Contractors: Bruce Martin, Adam Watts

Approved Engineer's Estimate

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
60608572	COMB CC&G TM4.18	FOOT	97	\$ 70.00	\$ 6,790.00	\$ 101.98	\$ 9,892.06
67100100	MOBILIZATION	L SUM	1	\$ 50,250.00	\$ 50,250.00	\$ 60,763.90	\$ 60,763.90
72000100	SIGN PANEL T1	SQ FT	36	\$ 50.00	\$ 1,800.00	\$ 53.31	\$ 1,919.16
72800100	TELES STL SIN SUPPORT	FOOT	64	\$ 35.00	\$ 2,240.00	\$ 39.98	\$ 2,558.72
78009006	MOD URETH PM LINE 6	FOOT	1199	\$ 5.00	\$ 5,995.00	\$ 6.94	\$ 8,321.06
78009012	MOD URETH PM LINE 12	FOOT	209	\$ 6.00	\$ 1,254.00	\$ 13.88	\$ 2,900.92
78009024	MOD URETH PM LINE 24	FOOT	370	\$ 9.00	\$ 3,330.00	\$ 27.77	\$ 10,274.90
X0326275	RR ROW ENTRY PERMIT	EACH	1	\$ 10,000.00	\$ 10,000.00	\$ 4,997.82	\$ 4,997.82
X1400326	R R FL BEACON A COMP	EACH	4	\$ 20,000.00	\$ 80,000.00	\$ 24,989.07	\$ 99,956.28
X4240126	BRICK SIDEWALK	SQ FT	44	\$ 25.00	\$ 1,100.00	\$ 59.74	\$ 2,628.56
X4400060	BRICK SIDEWALK REM	SQ FT	2531	\$ 5.00	\$ 12,655.00	\$ 3.18	\$ 8,048.58
X6021065	INLETS TG-1 SPL	EACH	6	\$ 6,000.00	\$ 36,000.00	\$ 5,620.75	\$ 33,724.50
X6026200	INLETS ADJUST SPL	EACH	3	\$ 2,500.00	\$ 7,500.00	\$ 2,481.99	\$ 7,445.97
X7010216	TRAF CONT & PROT SPL	L SUM	1	\$ 25,000.00	\$ 25,000.00	\$ 4,331.44	\$ 4,331.44
Z0013798	CONSTRUCTION LAYOUT	L SUM	1	\$ 16,750.00	\$ 16,750.00	\$ 18,991.69	\$ 18,991.69
Z0048665	RR PROT LIABILITY INS	L SUM	1	\$ 5,000.00	\$ 5,000.00	\$ 7,500.00	\$ 7,500.00
Z0056648	SS 1 WAT MN 12	FOOT	62	\$ 150.00	\$ 9,300.00	\$ 122.35	\$ 7,585.70
Z0077803	REMOV WOOD POST	EACH	11	\$ 50.00	\$ 550.00	\$ 86.87	\$ 955.57
PEO00001	CLEANOUT WITH POPUP EMITTER (SPECIAL)	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 756.69	\$ 756.69